
Soustraire des fractions mixtes négatives (B)

Nom: Date: Note:

Calculez chaque différence.

1. (−215) − (−514) = − = − = =

2. (−556) − (−415) = − = − = =

3. (−514) − 245 = − = − = =

4. (−123) − (−512) = − = − = =

5. (−323) − (−334) = − = − =

6. (−335) − (−356) = − = − =

7. (−413) − (−315) = − = − = =

8. (−215) − (−112) = − = − =

9. (−523) −
3
4 = − = − = =

10. (−123) − (−434) = − = − = =
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Soustraire des fractions mixtes négatives (B) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−215) − (−514) = (−115 ) − (−214 ) = (−4420) − (−10520 ) = 61
20 = 3 120

2. (−556) − (−415) = (−356 ) − (−215 ) = (−17530 ) − (−12630 ) = (−4930) = (−11930)

3. (−514) − 245 = (−214 ) −
14
5 = (−10520 ) −

56
20 = (−16120 ) = (−8 120)

4. (−123) − (−512) = (−53) − (−112 ) = (−106 ) − (−336 ) = 23
6 = 356

5. (−323) − (−334) = (−113 ) − (−154 ) = (−4412) − (−4512) = 1
12

6. (−335) − (−356) = (−185 ) − (−236 ) = (−10830 ) − (−11530 ) = 7
30

7. (−413) − (−315) = (−133 ) − (−165 ) = (−6515) − (−4815) = (−1715) = (−1 215)

8. (−215) − (−112) = (−115 ) − (−32) = (−2210) − (−1510) = (− 7
10)

9. (−523) −
3
4 = (−173 ) −

3
4 = (−6812) −

9
12 = (−7712) = (−6 512)

10. (−123) − (−434) = (−53) − (−194 ) = (−2012) − (−5712) = 37
12 = 3 112
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